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H = 3.400 m
tl= 0.350 m
2= 0.000 m
3= 0.150 m
Ft = 0.600 m
bl = 0.600 m
b2 = 3200 m
( 430)
L = 1.000 m
1= 27 m
2= 05m
= 05m
11 cm
WB1 = 3.800 m
WB2 = 3500 m
Hi=  [EN000 m
WF1 = 1.500 m
WF2 = 1.500 m
/////
_KN/m2




m
m

q 10.00 kN/m2
( ) 2.350 m

P = 30.00 =
(a = <)
o= 0.00 =
o) 30
o) 10
Se 15



= 0.20

YC = 245 kN/m2
VS = 19.0 kN/m2
VYSW = 10.0 kN/m2
YSW' = 20.0 kN/m2
YW = 10.0 kN/m2
o= 300 <
:999999) 2.0
yl= 10.0 kN/m3
@ = 450
C= 0.0 kN/m2
) M= 0.577
( tancpB) = [IN0S77
Df* = 0.600 m
o = 10
B= 10
Y2 = 10.0 kN/m3
Df = 10 m
= 3
= 2
(Hb/ V=
Ng =
Nr =
(Hb/ V=
Ng =

Nr =




FA = 15

FA = 1.2
QA = 200 kN/m2
QA= 300 kN/m2
7= 10.0 cm
( ) ’ = 110 cm
( ) = 110 cm
23.50 N/mm2
SD345
o =_N/mm2
o = 160.00 N/mm2
T = N/mm2
c' =-N/mm2
o = 300.00 N/mm2
' =_N/mm2

15

( osa)/(  osa) (S




4-1-1
4-1-2
4-1-3

4-1-4
4-1-5
4-1-6

4-2-1

4-2-2

5-1-1
5-1-2



5-1-3

s 0.008

6-1-1

6-1-2
6-1-3

6-2-1

6-2-2
6-2-3
6-2-4

6-3-1
6-3-2



yc = 245 kN/m3
Yys = 19.0 kN/m3
ysw = 100 kN/m3
ysw' = 20.0 kN/m3
yw = 100 kN/m3
KH = 0.2
WB1 = 3800 m
WB2 = 3500 m
WF1 = 1500 m
WF2 = 1500 m
q = 10.0 kN/m2
( ) g = 2350 m
( ) Wg = 1000 m
10.0 cm
11.0 cm
11.0 cm
ock = 2350 N/mm2
SD345
oca 7.80 N/mm2 11.70 N/mm2
osa 160 N/mm2 300 N/mm2
Ta 0.38 N/mm2 0.57 N/mm2




vyl = 100 kN/m3
@ = 450 <
tanepB = 0.577
Dff = 0600 m
Y2 = 100 kN/m3
Df = 1.000 m






4-1

4-1-1

/
\
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|

\

H
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(m) (m) (m) Y¢C (kN) (m) (m) (kN'm) | (kN m)
0.350 3.400 * 1.000 245 29.155 0.775 2.300 22,595 67.057
0.000 3.400 * 1.000 245 0.000 0.600 1.733 0.000 0.000
0.150 3.400 * 1.000 245 6.248 1.000 1.733 6.248 10.828
4,300 0.600 1.000 245 63.210 2.150 0.300f 135.902 18.963

> 98.613 164.745 96.847
Ncv = 98.613 kN
Nch = v * 020
= 19.723 kN
X=X > 1671 m
y=> > 0.982 m




(m) (m) (m) Ye¢ s1(kN) (m) (m | &Nm | (kNm
3350 * 1675 / 2 * 1000 * 190 53.307 3.183 4558 169.676 242973
0009 * 0200 / 2 * 1000 * 19.0 0.017 0.956 3.933 0.016 0.067
3.341 * 0.200 * 1000 * 190 12.696 2.630 3.900 33.390 49.514
0141 * 3200 / 2 * 1000 * 100 2.256 1.053 2.733 2.376 6.166
3.200 * 3.200 * 1000 * 100 102.400 2.700 2200 276.480 225.280

170.676 481.938 524.000

Nsl = 170.676 kN

X== > = 2824 m
m __ (m) M ve | s m [ m) | GNm) | (N m)

3350 * 1675 / 2 * 1000 * 19.0 53.307 3.183 4558 169.676 242.973
0022 * 0500 / 2 * 1000 * 19.0 0.105 0.965 3.833 0.101 0.402
3328 * 0.500 * 1,000 * 190 31.616 2.636 3.750 83.340 118.560
0128 * 2900 / 2 * 1000 * 10.0 1.856 1.057 2533 1.962 4,701
3.200 * 2900 * 1,000 * 100 92.800 2.700 2.050 250.560 190.240

179.684 505.639 556.877

Ns2 = 179.684 kN

Nsh= s2 * 020 = 35937 kN
X== > = 2814 m
y=x= > = 3099 m
4-1-2
( ) qg= 2350 m
( ) Wg = 1.000 m
L = 1.000 m
g = 10.0 kN/m2
Q=qg*Wg*L = 10.000 kN

X= - 1/2 * Wq 3.800 m




4-1-3

(p:
A =
o=

Sl

S2
oel =
Se2
60 = -1 h = 0.20
= 11310
P A
¢ a =
@ o OO0
@ o OO0 =
P oA = 343
@ o 60 = -788

A = cos2 (p-O)

B = cos"2 (©) * cos (B+d1)
C=sin (+d1) * sin (p-x)
D =cos (B+d1) cos (O-a)

Kal=A*1/{B*(1+~/(C*1/D)}2
A =cos"2 (¢p-1i)

B=cos"2 (i)*cos(i+d2)

C =sin (+d2) * sin (p-x)

D=cos (i+d2)cos (i-o)

Ka2=A*1/{B*(1+~(C*1/D)}2

A = cos"2 (p-O0 -O)

B = cos (©0) * cos"2 (O) * cos (O+O0 +del)

C =sin (+del) * sin (p-a-O0)
D = cos (©+O0 +del) cos (O-a)

Keal=A*1/{B*(1+~(C*1/D)}2

0.750
0.866
0.052
0.775

0.787
0.974
0.038
0.892

0.897
0.879
0.000
0.802

0.546

0.555

1.020



A =cos"2 (p-O0-i)

B=cos (©0)*cos"2 (i)*cos(i+O0+de2)
C =sin (+de2) * sin (p-ax-O0)

D =cos (i+O0 +de2) cos (i -x)

Kea2=A*1/{B*(1+~(C*1/D)}2

KH'

KH'= (ys h+ysw hw +yw hw +q) 7/ (s h+ysw hw +q) * KH

YSs =
YSwW =
Yw =
q =

KH'= 0328

60 = -1 K

= 1816
@ o 60 = -147 <

A = cos™2 (p-O0 -O)

B = cos (©0) * cos"2 (O) * cos (B+O0 +Sel)
C =sin (+del) * sin (p-a-O0)

D = cos (©+60 +>el ) cos (6-o)

Kea3=A*1/{B*(1+~/(C*1/D)}2

A =cos"2 (p-O0-i)

B=cos (©0)*cos"2 (i)*cos (i+O0+de2)
C =sin (+de2) * sin ((p-ax-O0)

D =cos (i+O0 +>e2) cos (i -ox)

Kead =A*1/{B*(1+~/(C*1/D)}2

0.923
0.950
0.000
0.887

19.0 kN/m3
10.0 kN/m3
10.0 kN/m3

0.500 m
3.500 m

10.0 kN/m2

0.958
0.795
0.000
0.749

0.974
0.887
0.000
0.854

0.972

1.205

1.098



al =

a2

eal
ea2

ea3
ead

0.546
0.555

1.020
0.972

1.205
1.098



q = 10.0 kN/m2

( ) al= 0546
H = 5675m

( ) Sl= 30
L = 1.000m

h=g*Kal*H*cos(d+i)*L = 26.834 kN
v=g*Kal*H*sin(d+i)*L = 15493 kN
= 4300 m
X =
Y =1/2* = 2838 m
( ) Yys = 190 kN/m3
( ) ysw= 10.0 kN/m3
( ) Kal = 0.546
H1 = 1875m
H2 = 3800 m
L = 1000m
( ) ol = 30
pl=vys*Kal*Hl*L = 19.451 kN/m
p2 =ys*Kal*Hl*L = 19.451 kN/m
p3 =p2 +ysw*Kal *H2 * L = 40.199 kN/m

Phl=1/2*{pl*H1l * cos(D1+i)+(p2+p3)*H2*cos(Sl+i)} 113.943 kN

Pvl=1/2 *{pl *H1 *sin(d1+i)+(p2 +p3) * H2 * sin(S1+ i)} 65.785 kN

>
1
1

4.300 m

<
1
1

2,060 m



pl=vwys*Keal *HL * L
p2 =vys*Kea3 *H1*L

p3 =p2 +ysw * Kea3 * H2 * L

p

YSW
eal =
eald =
H1
H2

oel =

19.0 kN/m3
100 kN/m3
1.020
1.205
2175 m
3.500 m

15

42.152 kKN/m
49.797 KN/m

91.972 kN/m

Ph2 =1/2 * {pl * H1 * cos(Del+i) + (p2 + p3) * H2 * cos(Del+ i)}

Pv2=1/2 *{pl * H1 * sin(del+i) + (p2 + p3) * H2 * sin(Sel+i)}

283.920 kN

76.076 kN

4.300 m

1.990 m



4-1-4

YW = 10.0 kN/m3
WB1= 3800 m
WB1'= 2300 m

L = 1.000 m

Whl =yw*(2*WB1-WB1')*WB1'/2*L

YW = 10.0 kN/m3
WB2= 3500 m
WB2'= 2,000 m

L 1.000 m

Wh2 =yw™*(2*WB2-WB2')*WB2'/2*L

60.950 kN

1.408 m

50.000 kN

1317 m



(m) (m) (m) Y¢ w1(kN) (m) 1(kN m)
0.600 0.900 1.000 10.0 5.400 0.300 1.620
0.000 0.900 1.000 10.0 0.000 0.600 0.000
3.200 3.200 1.000 10.0 102.400 2.700 276.480
0.141 3.200 1.000 10.0 2.256 1.053 2.376

110.056 280.476
Nwl = 110.056 kN
X > 1 X wl = 2548 m

(m) (m) (m) Y¢ w2(kN) (m) 2(kN m)
0.600 0.900 1.000 10.0 5.400 0.300 1.620
0.000 0.900 1.000 10.0 0.000 0.600 0.000
3.200 2.900 1.000 10.0 92.800 2.700 250.560
0.128 2.900 1.000 10.0 1.856 1.057 1.962

100.056 254.142
Nw2 =  100.056 kN
X > 2 =Z w2 = 2540 m




4-1-6

YW = 10.0 kN/m3

B = 4300 m
L = 1000 m
WB1= 3.800 m
WB1'= 2300 m

1=1/2*(2*WB1-WB1')*yw*B=*L = 113.950 kN
X = = 2461lm
YW = 10.0 kN/m3

B = 4300 m

L = 1.000 m

WB2= 3500 m

WB2'= 2.000 m
2 =1/2*(2*WB2-WB2')*yw*B*L = 107.500 kN
X = = 2437 m



4-2
4-2-1

(kN) X(m) X(kN m)
98.613 1671 164.782
170.676 2.824 481.989
10.000 3.800 38.000
15.493 4,300 66.620
65.785 4,300 282876
110.056 2,548 280.423
~113.950 2.461 ~280.431
356.673 1034.259
(Y)
(kN) Y(m) Y(kN m)
26.834 2.838 76.155
113.943 2.060 234723
60.950 1.408 85.818
201.727 396.696




1/6 * B
X=( X- Y)/
= 1.788 m
=B/2-X
= 0362m
1/6 * B = 0.717 m
-1/6*B=-0717m
F
C (kH/m2)
= 356.673 kN
= 201.727 kN
TAN(epB) = 0577
SF={C*Ae+ *TAN(pB)}/
= 1.02
FA = 15
1/6 * B
Q1
Q2
= 356.673 kN
B = 4300 m
L = 1.000 m
Ql=( /B*L)*(1+6* /B)
Q2=( /B*L)*(1-6* /B)
QA = 200 kN/m2

356.673 kN

1034.259 kN m

396.696 kN m
4300 m

124.845 kN/m2
41.049 kN/m2



Hu = ( cAl + Vitanep ) + (V2 + V3) * tanpB

T ]

T

1 2 3
1(= e) e
Ae =(B-2*e)*L
B B = 4300 m
= 0362 m
Ae =( 4300 - 2 * 0362 ) * 1.000 = 3576 m2
1= 2700m
Al = 2700 * 1.000 = 2700 m2
A2 = 0500 * 1.000 = 0.500 m2
A3 = 0376 * 1.000 = 0376 m2
vV =(4-2-1 ) = 356.673 kN
Vi =Al/Ae*V = 269.300 kN
V2 =A2/Ae*V = 49.870 kN
V3 =A3/Ae*V = 37503 kN
Cc = = 0.000 kN/m2
tanep = (¢ = 45 < = 1000
tanepB = (@B =2/3¢p) = 0577
Hu
Hu = 269.300 * 1.000 + (49.870 + 37503 ) * taneB 0577 = 319.714 kN

Hb = 201.727 kN

F=Hu/Hb= 319714 / 201727 = 158 ( 15 )



4-2-2

(kN) X(m) X(kN m)

98.613 1671 164.782

179.684 2.814 505.631

76.076 4.300 327.127

100.056 2,540 254.142

-107.500 2.437 -261.978

346.929 989.704

v)

(kN) Y(m) Y(kN m)

(Kh= 02 19.723 0.982 19.368
Kh= 0.2 35.937 3.099 111.369
283.920 1.990 565.001

50.000 1317 65.850

389.580 761.588




346.929 kN

X = 989704 kN m
Y = 761588 kN m
B = 4300 m
1/3*B
X=( X- Y)/
=  0.658m
=B/2-X
= 1492 m
1/3*B = 1433 m
-1/3*B= -1433m
(kH/m2)
= 346.929 kN
= 389.580 kN
TAN(epB) = 0577
SF={C*Ae+ *TAN(pB)}/
= 0514
FA = 1.2
Xx=3*(1/2*B-¢)
Xx=3*(1/2* 4300 - 1492 ) = 1974 m B( 4300 m)
X
Qmax=V*2/(L*x)
= 346.929 kN
L = 1.000 m

Qmax=V*2/(L*x) 351.498 kN/m2

QA= 300 kN/m2



Hu = ( cAl + Vitanep ) + (V2 + V3) * tanpB

1 2 3
1(= e) e
Ae =(B-2*e)*L
B B = 4300 m
= 1492 m
Ae =( 4300 - 2 * 1492 ) * 1.000 = 1316 m2
1= 2700m

Al = 1316 * 1.000 = 1316 m2
A2 = 0.000* 1.000 = 0.000 m2
A3 = 0.000* 1.000 = 0.000 m2
vV =(4-2-2 ) = 346.929 kN
Vi =Al/Ae*V = 346.929 kN
V2 =A2/Ae*V = 0.000 kN
V3 =A3/Ae*V = 0.000 kN

Cc = = 0.000 kN/m2

tanep = (¢ = 45 = = 1000
tanepB = (@B =2/3¢) = 0577
Hu
Hu = 346929 * 1.000 + (0.000 + 0000 ) * taneB 0577 = 346.929 kN
H = 389.580 kN

F=Hu/H= 346929 / 389580 = 089 ( 12 )



4-3

QA=Qu/a
Qu
c
q (kN/m2)
g=vYy2*Df
AV
AV
Ae (m2)
Be
Be=B-2*e¢
B (m)
: m
Df (m)
o3
o = 10
B = 1.0
K
K=1+0.3*Df/ Be
DF' (m)
NC,NQ\NG :
a
tan®© :
tan©® = B/
B

(kN)
(kN)

Qu=Ae* (X *K*C*Nc+K*q*Ng+1/2*y1* B *Be*Nr)

(kN)

1.000 m

0.600 m

4-2
4-2

0.000 kN/m2

10.000 kN/m2
100 kN/m2
10.0 kN/m2



Be =B-2*¢e

B
= 4300 - 2 * 0362
Ae =Be*L
= 3576 * 1.000
K = 1+03*Df/Be
=1+03* 0600/ 3576
tan© = B/ = 0566
(4-2-1
B
(4-2-1
Ng = 270 ( q
Nr = 140 ( Y
Qu = 19089 kN
Qa = 636.3 kN
Be =B-2*e
B
= 4300 - 2 * 1492
Ae =Be*L
= 1316 * 1.000
K= 1+0.3*Df/Be
=1+ 03* 0600/ 1316
tan©® = B/ = 1123
(4-2-2
B
(4-2-2
Ng = 38 ( q
Nr = 07 ( Y
Qu = 62.9 kN
Qa = 315 kN

4300 m
0.362 m
3576 m

1.000 m
3.576 m2

1.050

356.673 kN

~
1

201.727 kN

~
1

356.673 kN

4300 m
1492 m
1.316 m

1.000 m
1.316 m2

1137

346.929 kN

~
1

389.580 kN

~
1

346.929 kN



4-4

(m) &N/m2) | (kN)

CASE - 1 0362| 1020 1580 124.845| 356.673
0.717 15 15 200 | 636.300

CASE - 2 1492]  0514] 0890 248648] 346929
1.433 12 12 300 31.500




5-1

a2 0.555

ea2 0.972

ead 1.098

5-1-1
(m) (m) (m) Y c(m2) (m) (kN_m)
0.350 * 3.400 * 1000 * 245 29.155 1.700 49.564
0000 * 3400 / 2 * 1000 * 245 0.000 1.133 0.000
0150 * 3400 / 2 * 1000 * 245 6.248 1.133 7.079
= 35.403 56.643
cv= 35403 kN
ch= c* 0.20
= 7.081 kN
= > cC 1.600 m
5-1-2



q =
( ) a2 =
H
( ) S2

-
1

h =g*Ka2*H*cos(®d2+i)*L

y=1/2*

—

~
<
(7]
11

«( ) Ysw =

H1

pl=vys*Ka2*Hl*L =
p2 =vys*Ka2*Hl*L =

p3 =p2 +ysw*Ka2 *H2 * L

10.0 kN/m2
0.555
3.400 m
10
253
1.000 m

18.421 kN

1.700 m

19.0 kN/m3
100 kN/m3
0.555
0.200 m
3.200 m
1.000 m

10
2.53

2.109 kN/m
2.109 kN/m

19.869 kN/m

P1 =1/2*{pl*H1l*cos(D2+i)+(p2+p3)*H2*cos(S2+i)}

34.533 kN

1.182 m



( ) Yys = 19.0 kN/m3
ysw= 10.0 kN/m3

( ) ea2= 0972

( ) ead = 1.098
H1 = 0500 m
( ) H2 = 2900 m
L = 1000m

( ) de2 = 0

= 253

pl=wys*Kea2 *HL * L = 9.234 kN/m
p2 =vys*Kead *HL * L = 10.431 kN/m
p3=p2 +ysw*Kead *H2 * L = 42.273 kKN/m

Ph2 =1/2 *{pl * H1 * cos(de2 +i) + (p2 + p3) * H2 * cos(De2 +i )} 78.653 kN

1214 m

<
1
1



5-1-3

YW = 10.0

( ) WB1=  3.200
WB1' = 2.300

L = 1.000

Whl =yw*(2*WB1-WB1')*WB1'/2*L

YW = 10.0
( ) WB2 = 2.900
WB2' = 2.000

Wh2 =yw™* (2*WB2-WB2')*WB2' /2 *L

kN/m3

<
1

kN/m3

47.150

1.133

38.000

1.038

kN

m

kN

m



5-2

5-3

(kN) Y(m) Y(kN m)

18421 1.700 31.316

34.533 1.182 40.818

47.150 1.133 53.421

100.104 125.555

125555 kN m

(kN) Y(m) Y(KN m)

7.081 1.600 11.330

78.653 1214 95.485

38.000 1.038 39.444

123.734 146.259

146.259 kN m
M = 125555 kN m ( CASE - 1 )
S = 100.104 kN ( CASE - 1 )
B = 100.0 cm
H = 500 cm
D = 400 cm
D' = 100 cm
D22 8 = 30968 cm

oc= 47 N/cm (oca= 78 N/cm)

os = 116 N/cm (osa= 160 N/cm)

T = 0.3 N/cm (a = 0.38 N/cm)




5-4

Mc=Zc (o'ck+ N/ Ac)

Mc (KN m)
Zc (mm3)
o'ck (N/mm2)
o'ck = 0.23 ock?(2/3)
ock (N/mm2)
N (kN)
Ac (mm2)
M (kN m)
mm 1000
mm 500
Zc 1/6*b*h"2 mm3 |[41667000
Ac b*h mmz2 500000
ock N/mm2 235
o'ck | 0.23*occkMN2/3) N/mm2 1.887
N kN 0.000
M (5-2 ) | kN m| 125555
Mc( ) kN m 78.626
1.7*M kKN m 213.44
Mc 1.7*M




Mu=As osy {D-1/2 As osy/ (085 ock B)}

As
Mu (kN m)
As (mm2)
osy (N/mm2)
D (mm)
ock (N/mm2)
B (mm)
Mu KN m| 78626
B mm 1000
D mm 400
osy N/mm2 345
ock N/mm2 235
AA 0.85 ock B (N/mm) 19975
As(1) AA*{D+V/(D"2-2*Mu*1/AA)}/ o sy mm2 45742
As(2) AA*D-~/(D"2-2*Mu*1/AA)}/ oSy mm2 577
D22 8.00 mmz2 3097
mm2 577
s 0.008




Kh
Ka2
Kea2
Kea4
2
oe2

m2(

m3(
m4(

m3(
m4(

m5(
m6(

= 2

3
N
—_~ =~ =<~ ~

=
[N

% 5

) =P

m
m
L
1 m
m
m
WB - (m)
) —
) N
—

)= 1/2%i( )*W2*yc*KH*L

)= wl*1/3*h
)= t*h*yCc*KH*L

)= w2*1/2*h

)= 1/2*%i( )*h2*ye*KH*L
)= w3*1/3*h

)
)

Y*UH*1/2* 2 * L

={1/2*wys*Ka2 *hl"2 *cos(d2 +i)*1/3*hl}*L
={1/2*ys*Ka2 * h1"2 * cos(d2 +i)* (1/3*hl +h2)
+Vys*Ka2*hl*h2*cos(d2+i)*1/2*h2

+1/2 * ysw * Ka2 * h2"2 * cos(d2 +i)*1/3*h2}* L

={1/2*wys *Kea2 * h1"2 * cos(de2 +i) *1/3*hl}*L
={1/2 * ys * Kea2 * h1"2 * cos(de2 +i) * (1/3*hl + h2)
+ys * Kead( )*hl*h2*cos(de2+i)*1/2*h2
+1/2 * ysw * Kea4( ) * h2"2 * cos(Se2 +1i)
*1/3*h2}*L

= (1/2*% yw*h2/02 * 1/3*h2) * L
={1/2 % \yw* WB"2 * (1/3 * WB + h2 - WB )
+WB*yw*1/2* (h2-WB)"2}*L



H = 3.400
( ) YySs = 19.0 kN/m3
( YSwW = 10.0  kN/m3
L = 1000 m
( ) a2 = 0.555
H1 = 0200 m
( H2 = 3200 m
- WB = 2300 m
) d2 = 10
(m) >
(kN m)[ (kN m) | (kKN m) (kN m)
3.400 | 0.000 0.000 0.000 0.000 0.000 0.000 0.000
2.720 | 0.680 0.200 0.480 1.253 0.450 0.184 1.887
2,040 | 1.360 0.200 1.160 5011 3.047 2.601 10.659
1.360 | 2.040 0.200 1840 11.274 9.503 10.383 31.160
0.680 | 2.720 0.200 2520| 20.042| 21520 26.654 68.216
0.000 | 3.400 0.200 3.200| 31.300{ 40.802 53.398 125.500
( ea2 = 0.972
) ) ead = 1.098
H1 = 0500 m
( H2 = 2900 m
- WB = 2000 m
( ) 2 = 0
(m) >
(kN-m) | (kN m) | (kN m) (kN m)
3400 | 0.000 0.000 0.000 0.000 0.000 0.000 0.000
2.720 | 0.680 0.500 0.180 0.408 0.979 0.010 1.397
2,040 | 1.360 0.500 0.860 1677 7.384 1.060 10.121
1.360 | 2.040 0.500 1540 3.874| 22970 6.087 32931
0.680 | 2.720 0.500 2.220 7.069| 51.186 18.217 76.472
0.000 | 3.400 0.500 2900| 11.329| 95480 39.433 146.242




350 500
As/2 As/2*osa/2 As/2 As/2*osal/2
cm 100 100 100 100
cm 35 35 50 50
cm 75 75 15.0 15.0
cm 0.0 0.0 0.0 0.0
D22 400D 22 4.00|D22 400{D22 400
cm2 15.48 15.48 15.48 15.48
N/mm?2 7.80 7.80 7.80 7.80
N/mm?2 160.0 80.0 160.0 80.0
om 8.701 8.701 11,505 11505
em 8.701 8.701 11.505 11.505
KN m 74.99 74.99 162.27 162.27
KN m 54.75 27.38 89.60 44.80
350 500
As/2 As/2*osal/2 As/2 As/2*osa/2
cm 100 100 100 100
cm 35 35 50 50
cm 75 75 15.0 15.0
cm 0.0 0.0 0.0 0.0
D22 400D 22 400{D22 400{D22 400
cm2 15.48 15.48 15.48 15.48
N/mm2 11.70 11.70 11.70 11.70
N/mm?2 300.0 150.0 300.0 150.0
om 8.7 8.7 115 115
om 8.7 8.7 115 115
KN m 112.49 112.49 24341 24341
102.66 51.33 167.99 84.00

KN m




As/2 osa/2

(MRS KN m)

1/2 As

(MRS kN m)

L1

1/2 As
1 L1+1L2
L1 1/2 As
L2 3B

MRs 89.60 kN m

0.000
L1
L1 0.426 m

L2 35*D 22

1 0426 + 0.770

1/2 As 1/2 osa
2 1/2 1/2 As

MRs 4480 kN m
0.680
2 1110 m

120 m

(kN m)

m<L1l< 0.680

770 mm

1196 m

m<L2< 1.360

m



1/2 As

1 L1+1L2
L1  1/2 As
L2 35 @

MRs 16799 kN m

0000 m<Ll< 3400

L1
L1 -0.506 m
L2 35*D 22 770 mm
1 -0.506 + 0.770 0.264 m
1/2 As 1/2 osa
2 1/2 1/2 As
MRs 84.00 kN m

0.680 m<L2m< 0.000

2 0.607 m

070 m

120 m



6-1

6-1-1
s
qn 9
4-2 4-2-1
1= 124.845 KN/m2
2= 41.049 KN/m2
= 4300m
1= 0600m
2=ql-(ql-q2)/B*bl = 113153 kN/m2
1=1/2%(ql+q2')*bl = 71399 kN
X = 0305m
4-2 4-2-2
1= 351.498 KN/m2
2= 0000 KN/m2
= 1974m
1= 0600m
2=ql-(ql-q2)/B*bl = 244,660 kN/m2

178.847 kN

2= 1/2*(ql+q2')*bl

0.318 m



YyC = 245 kN/m3

1= 0600 m
= 0600 m
= 1000 m
=bl*Ft*wyc*L = 8.820 kN
X =1/2* (bl) = 0300 m
4-1-5 ( )
Nw= wl + wl

5400 + 0.000 5.400 kN

> 1 == w
(Mx1  +Mx1 )/( wl + wl )
(

=( 1.620 + 0.000 )/ ( 5400 + 0.000 ) = 0.300 m
Nw= w2 + w2

= 5400 + 0.000 = 5400 kN

== 2 = w2

(Mx2 +Mx2 )/( w2 + w2 )
=( 1.620 + 0.000 )/ ( 5400 + 0.000 ) = 0300 m



wB1
yw = 10.0 kN/m3
B = 4300 m
bl = 0600 m
L = 1.000 m
WB1= 3800 m

WB2= 1500 m
WB2'=WB2 + (WB1 - WB2 ) * 1/B * bl
= 1.821 kN/m2

1 =1/2*(WB2+WB2')*yw*bl*L = 9963 kN
= 0290 m
yw = 10.0 kN/m3
B = 4300 m
bl = 0600 m
L = 1.000 m
WB3 = 3500 m
WB4 = 1500 m
WB4'= WB4 + (WB3 - WB4 ) * 1/B * bl
= 1779 kN/m2
2 =1/2*(WB4+WB4')*yw=*bl*L = 9837 kN

0291 m



6-1-2

S(kN) X(m) MX(KN m)
~71.399 0.305 21777
8.820 0.300 2,646
5.400 0.300 1.620
-9.963 0.290 ~2.889
~67.142 ~20.400
M= -20.400 kN m
S=  -67.142 kN
S(kN) X(m) MX(KN m)
-178.847 0318 -56.873
8.820 0.300 2,646
5.400 0.300 1,620
-9.837 0.291 ~2.863
~174.464 ~55.470
M= -55470 kN m

S= -174.464 kN



6-1-3

O ozxw
]

D16

SH=S-M/D*tan(®) =
T=SH/(B*D) =

55.470

100.0
60.0
49.0
110

250
153

174.464
55.470

100
60

49

11
0.000

174.464
0.356

kNm (CASE- 2 )

cm
cm
cm
cm

= 7944 cm

N/cm (oca= 11.7 N/cm )
N/cm (osa= 300 N/cm )

kN ( CASE - 2 )
kN.m

cm
cm
cm
cm

kN
N/mm2
(ca= 057 N/cm)



6-2

6-2-1
/Q/:Q
q2"
ql
4-2 4-2-1
1= 124.845 kN/m2
2= 41.049 kN/m2
= 4.300 m
1= 3200 m
2=02+(ql-g2)/B*bl
1=1/2*(g2+q2")*bl
4-2 4-2-2
1= 351.498 kN/m2
2= 0.000 kN/m2
= 1974 m
2= 0.600 m
3= 0.500 m

2=0l-(ql-9g2)/B*(b2+b3)

2=1/2*(q2+q2)*(B-b2-bl)

103.409 kN/m2

231.133 kN

1370 m

155.628 kN/m2

68.009 kN

0.291 m



YC = 245 kN/m3

b2 = 3200 m

F = 0600 m

= 1.000 m
=h2*Ft*wyc*L = 47.040 kN
X =1/2* (b2) = 1600 m

( ) Yys = 190 kN/m3
( ) ysw=  20.0 kN/m3
(m) (m) L(m) kN/m3 (kN) (m) (kN m)

3350 * 1675 / 2 * 1000 * 19.0 53.307 2.083| 111.038
3.200 * 0.200 * 1.000 * 190 12.160 1.600| 19.456
3200 * 3.200 * 1,000 * 200 204.800 1.600{ 327.680
270.267 458.174

= 270.267 kN
X== > = 169 m

(m) (m) L(m) kN/m3 (kN) (m) (kN m)

3350* 1675/ 2* 1000* 19.00 53.307 2.083| 111.038
3.200 *  0.500 * 1000 * 19.00 30.400 1.600| 48.640
3.200 *  2.900 * 1,000 * 20.00 185.600 1.600{ 296.960
269.307 456.638

= 269.307 kN
X== > = 1696 m



Qu=qg*Wg~*L

X =Lq+1/2*Wq

PV1= 65785kN

PV2 = 76.076 kN

) Wq
1.000 m
10.0 kN/m2

10.000 kN

2700 m

3.200 m

3.200 m

2200 m
1000 m



|
-
i

wB2 ‘
wB2*

wB1

yw = 10.0 kN/m3
B = 4300 m

b2 = 3200 m

L = 1.000m
WB1=  3.800m

WB2= 1500 m
WB1'= WB1 - (WB1 - WB2) * 1/B * b2
= 2.088 kN/m2

1=1/2*(WBL+WBL')*yw*hb2*L 94.208 kN

1755 m

yw = 10.0 kN/m3
B = 4300 m

b2 = 3200 m

L = 1.000 m
WB3 = 3500 m

WB4= 1500 m
WB4'= WB3 - (WB3 - WB4 ) * 1/B * b2
= 2012 kN/m2

2 =1/2*(WB3+WB4')*yw*hb2*L 88.192 kN

1744 m



6-2-2

S(kN) X(m) MX(KN m)
-231.133 1.370 -316.652
47.040 1.600 75.264
270.267 1.695 458.103
10.000 2,700 27.000
65.785 3.200 210,512
-94.208 1.755 -165.335
67.751 288.892
M= 288892 kN m
S= 67751 kN
S(kN) X(m) MX(KN m)
-68.009 0291 -19.791
47.040 1.600 75.264
269.307 1.696 456.745
76.076 3.200 243.443
~88.192 1.744 ~153.807
236.222 601.854
M= 601854 kN m
S= 236222 kN




6-2-3

M = 601854 kN m ( CASE - 2 )
M = 146259 kN m ( CASE - 2 )
M = 125555 kN m ( CASE - 1 )
B = 100 cm
H = 60 cm
D = 49 cm
D' = 11 cm
D22 8 = 30968 cm
oc= 34 N/cm (oca= 78 N/cm )
os = 937 N/cm (osa= 160 N/cm )
S = 236222 kN ( CASE - 2 )
M = 601854 kN.m
B = 100 cm
H = 60 cm
D = 49 cm
D'= 11 cm
tan(©)= 0.000
SH=S-M/D * tan(©) = 236.222 kN

T=SH/(B*D) = 0.482 N/mm2 (Ta= 057 N/mm2)



6-2-4

Mc=Zc (o'ck+N/ Ac)

Mc (kN m)
Zc (mm3)
o'ck (N/mm2)
o'ck = 0.23 ock’(2/3)
ock (N/mm2)
N (kN)
Ac (mm2)
M (kN m)
mm 1000
mm 600
Zc 1/6*B*h"2 mm3 |60000000
Ac b*h mmz2 600000
ock N/mm2 235
o'ck 0.23*ock(2/3) N/mm2 1.887
N ( ) kN 0.00
M kKN m 288.89
Mc( ) kN m 11322
17*M kKN m 491.12
Mc 1.7*M




Mu=As osy {D-1/2 As osy/ (085 ock B)}

As
Mu (kN m)
As (mm2)
osy (N/mm2)
D (mm)
ock (N/mm2)
B (mm)
Mu kKN m 113.22
B mm 1000
D mm 589
osy N/mm2 345
ock N/mm2 235
AA 0.85 ock B (N/mm) 19975
As(1) AA*{D+V/(D"2-2*Mu*1/AA)}/ o sy mm2 67643
As(2) AA*D-~/(D"2-2*Mu*1/AA)}/ oSy mm2 562
D22 8.00 mmz2 3097
mm2 562
s 0.008
0
0.002 B*D st 0.02 B*D
0002 BD Ast 002BD
Ast
D
22 8.00 Ast = 30.968 cm2
0.002*B*D = 980 cm2
002*B*D = 98.00 cm2




6-3
6-3-1

Ht={c*Al+ V1l *(tane - tan (B ) + V2 *tanpB } *H / Hu

T ]

Ll

1 2 3
1= e) e
4-2
4-2
4-2
Al = 2700 m2
A2 = 0500 m2
V1 = 269300 kN
V2 = 49870 kN
C =
tanep = (@ = 45 )
taneB= (@B =2/3¢)
4-2 Hu = 319.714 kN
4-2 H = 201727 kN
Ht = 90.031 kN
=Ht*1/2 * = 22508 kN m

1.000
0.577



4-2

4-2

4-2

4-2

Al
A2
V1
V2

Ht =

1316
0.000
346.929
0.000
0.000
tanp =
tanpB =

164.792
Ht > 1/2 *

m2

m2

kN

kN

(= 4 )
(B =2/3¢p)

Hu = 346.929 kN
H = 389.58 kN
kN

= 41198 kN m

1.000
0.577



6-3-2

M = 22508 kN m ( CASE - 1 )

S = 164.792 kN ( CASE - 2 )

B = 100 cm

H = 50 cm

D = 39 cm

D'= 11 cm

D 13 4 = 5068 cm

oc= 18 kg/cm (oca= 7.8 kg/cm)
os = 121  kg/cm (Osa= 160  kg/cm)

T = 04 kg/cm (Ta = 057  kg/cm)



kN m 125.555 55.470 125.555 22.508

kN 100.104| ( ) ( ) 164.792

cm 100.0 100.0 100.0 100.0

cm 50.0 60.0 60.0 50.0

cm 10.0 11.0 11.0 11.0

mm [D 22  8.00p 16  4.000 22  8.00[D 13  4.00

cm2 30.97 7.94 30.97 5.07
0.0077 0.0016 0.0063 0.0013

o |N/mm2| OK 4.7| OK 25| OK 3.4| OK 1.8
o |N/mm2| OK 116 | OK 153 | OK 94 | oK 121
© |[N/mm2| OK 0.25| OK 0.36| OK 0.48| OK  0.42
5 | N/mm2 7.8 11.7 7.8 7.8
5 | N/mm2 160 300 160 160
© |N/mm2 0.38 0.57 0.57 0.57




[

110

100
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